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No. of Questions/srest it wwa : 120

Time : 2 Hours) . [Fudl Marks : 360
THY : 2992] foortes < 360

Note : (f) Attempt as many questions as you can. Each question carries 3 (Three)
marks. Ore mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unatt ted question.
Fewfis T B o w0 W TS B YRS I S (@) sw o
v e I & [T U e wIer WrT | Yo Seid I W
JIHFG. =R |

(i) If mote than one altemative answers seem to be approximate to the
correct answex, chogse the closest one. :
ufe Tt I TE A T T whm W, W Prerm ol v
I

1 Bjoieahnulog}r is based on :
(1) only microorganisms
(2) only microorganisms atid anitnal cells
(3) only.animal cells and plant cells

{4) micmurganisms, animal cellz and Plant cells

2. Ingeneral, gene cxpmssihn iéﬁgﬁﬁfiﬂ dtthe level of

. (1) transcription ; (2) translation
(3) protein transport (4) RNA processing
3. Incase of complementary gene interaction, the test-cross r;ﬁé.' Iss
(1 1:1:1:1 (2) 1:1
(4) 9:
{3) 3:1

(1)
(Tury Over)
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4. Pearustis caused by :
(1) Fusarium oxysporum - (2) Uromyces fabae
(3) Puccinia pisi (4) Erysiphe pisi
8. Which of the following is a flowering parasite of crops ?
(1) Orobanche  (2) Ustilago (3) Parthenium  (4) Chlorella

6. Meloidngyne is:

(1) afungus | (2) anematode
(3) aprotozoan (4) an insect
7. Earthworms thrive wellin:
(1) acidic soils (2) saline sotls and acidic soils
G] alkaling soils (4) neutral soils

8. The Calvineycleis related to :

(1) respiration (2) photosynthesis
(3) photorespiration {4) lipid synthesis
9. Whichofthe followingis responsible for permanent hardness of water ?
(1) carbonates (2) nitrates
(3) sulphates

(2) (Continued)



10,

11.

12.

13.

14,

15.

16.
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Rhizebium and Psendomanas are ;

(1) chemoautotrophs (2) autotrophs

(3) beterotrophs (4) photoautotrophs
Plant dry matter has the highest concentration of : |

(N H @)C ()N (4) 0

The essential elements mvolved in electron transfer helﬁug 0

(1) groupll (2) groupmt (3) groupl (4) group [V
In plants, &pice] dominance involves :

(1) gibberellin  (2) auxin (3) ABA . @ GJ'tﬂkmm
The water potential of pure water is:

{1) zero ._{2_)3? B (3} five 4) aﬁ: |
The osmotic potential values are - B | |

(1) always positive | (2) musuymtm

(3) alwa}wgaﬁvc | --(4} mostly ne.gati':c

In climacteric fruits, the beginning of climacteric s associated with o ”’W
increass inthe productionop . :

(1) gibbarotr 7T T ) ethyieg,
(3

*a}ﬂ'ﬂ ver
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17. The 'bud chip' method isrelated to:

18,

19.

20,

11.

2.

(1) planting of sugarcane (2) grafting in trees
(3) budding in trees (4) planting of potato

The predominant system of cropping in India s :

(1) maize-wheat (2) rice-potato

€3) rice-wheat (4) soybean-wheat

Siriga parasitises |

(1) pigeonpea  (2) pearl millet (3) tomato (4) chick-pea
Phalaris minor is & weed in :

(1) wheat (2) pea (3) rice (4) groundnut

Odotatermes obesus is the scientific name for :

(1) cockroach  (2) cutworm (3) termite {4) budworm
Tree banding is relevant o
(1) stem bover (2) mango happer

13, Sanjose scaie nfests

(1) pear (2) spple T (4) citrus

(4) (Continued)
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24. Which of the following is a systemic insecticide 7

(1) Parathion  (2) Azaditatin ~ (3) Malathion * (4) Carbofiron
25. The primary function of a geite is to encode -

(1) anRNA (2) apolypeptide

(3) anenzyme (4) aprotein

26. Which of the f{}llnwin_g effects is fixable 7

(1) Dominance (2) Epistatic

(3) Additive (4) Environmental
27. Whichof th.e following traits shows codominance ?

(1) Human ABO blood group (2) Secd shape e

(3) Eye eolour in Drosophila * (#) Fiir colour in rabbit

28. The 1 :4:6:4 : 1 ratio in ¥, indicatss swhich or the following gene interac.
tions ?

(1) Inhibitory (2) Supplementary
(3) Duplicate . !4) Additive |
29, Wﬁﬁhmh@:ﬂmwﬁuﬂmamw?
(1) Chickpea ~ (2) Pigeonpen... o) w10
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30. Column A lists piant species and column B lists the oil storage tissue. Match the
two columns and find the correct option from those given below these columns.

Column A olumn B

A. Castor I. Cotyledon

B. Oilpalm I1. Mesocarp

C. Soybean H1. Endosperm
Options :
(1)Al BU CII- : (YAl BO CI
(3)All .BIlL C! () AIl BI CII

31, Which ofthe following organisms causcs the greatest damage to crop plants ?
(1) Viruses {2) Bacteria (3) Fungi (4) Nematodes
32 'Ihe_ greatest amount of insecticides is used in :
(1) wheat (2) tomato - (3) su gamane (4) cotton
33, ProvimminAls: |
(1) fcarotene  (2) a-tbcophéml (3) Lycopene (4) Xanthophy!l

34. The number of amino gcids considered essential for humans s :

(1)4 @1 - ®8 . @

(1) rice ~(2) chickpea . (3) maize {4) wheat

(6) (Continued)



36. Cereal proteins are deficient in :
(2) methionine

37. Oils become rancid due to :

(1) Lysine

(1) palmitic acid
(3) erucic acid
38. Biodegradable plastic is :
(1) abacterial product
(3) an animal product
39. Aphids do not |
. (1) _rupm;.iuce asexuh]l;,sv'
| (3) feed on tissues

—

40. Stem rust of wheat is caused by:

g -

(1) Puccinia recondita

(3) Puccinia strifformis

17P/287/29

(3) leucine (4) valine

(2).nlei¢ acid

4) linolenic acid

(2) aplantproduct

(4) a petroleum product

N T

(2) attack cotton

(4) transmit viruses

e r o
Q) Puccinia graiinis

(4) Puccinia triticing

l : ) __'-ll-_-l‘
41, Consumption of gtéins infected by which of the funomﬂ”‘ﬂy “8USe abortion o

()Bmt () Rus

(3) Ergot

(4y 3@:
% Olfer}
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- 42, Eukaryotic chromatin is composed of

(1) DNA+RNA (2) RNA + proteins

(3) DNA + proteins _ (4) DNA + proteins + RNA
43. The eukaryotic chromatin fiber has the diameter of :

(1) 100 A (2) 300 A (3) 250 A (4) 500 A
44. The S_‘;fﬂ?bli)l 71 represents : |

(1) gametic ;:lzromu-sqme complement

(2) somatic chromosome mmplmnut

(3) polyploid condition

(4) genomic number
45, 1ampbrush chromosomes are foundin:

(1‘ ) polien mother cells (2) human sperm

(3}.ascospores (4) human oocytes

46. Somatic chromosome pairing occurs in :

(1) Dipteran salivaty glands (2) pollen gl'ﬂ[n e

(4) trichomes

(3} root hairs

() (Continued)
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48.

30.

51.
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Heterosis is believed to invalve ;

(1) overdominance only

(2) overdominance, dominance and epistasis

(3) dominance only |

(4) overdominance and dominance nﬁly

Histones are & regular component of :

(1) bacterial chromosomes i (2) Wﬂphase chromosomes
(3) plastid chormoscsss™ (4) animal chromosome:

+ The term 'inbred! i3 not related to :

(Dmaize (2 rice (3) pear! millef™ "V2} Braagicas
Each chromosome mprms a single chromatid during :

L I e
T e N by

(1)Sphase  (2) Gl phase (3) prophase 4) 02 phage
The lowest magnitude of inbreeding dm&}m

(1) often emgs.l-pnllin_ate'd crops

(2) clonal crops

(3) cross-pollinated crops

(4) self-poltinated Grops:~

irn Orey)
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52. Hybrid varicties of which of the following crops were the first to be used for

¥

54,

55.

56.

57. TheIndian 108

commercial cultivation ?

(1) Pearl millet (2) Rice (3) Maize {4) Sorghum
The term "recurrent parent' is related 10 :

(1) backeross method (2) pedigree method

(3) bulk method (4) recurrent selection

The opaque-2 gene of maize improves :

{1) kemel appearance (2) protein content

(3) endosperm texture (4) protein quality

Breeder seed is progeny of :

(1) truthful seed (2) certified seed

(3) nuclevs seed (4) foundation seed

[n eukaryotic gmmnmes, highl:f.rﬂpﬂﬁtiv:DHAgmemHy gcours in
(1) bands of giant chromosomes . (2) telomeres and centromeres
(3) chromomeres (4) only centromeres

titute of sugarca'newsemh is locatedin :

(9 Kanpe (3) Coimbatore  (4) Shahjahanpur

(1) LucknoW

(Continued)

(10)
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59,

60.

61.

62.

63,
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Neurospora is :
(1) afungus ' " (2) ananimal

(3) abacterium - (4) anengiosperm
Rhizobium forms nodules in «

(1) tomato- {2) rice . {3) fingermillet  (4) lentil
Bilirubin level in blood is elevatedin:

(1) hepanhs (?) gastritis (3) encephalitis  (4) dengue
Atmnsphenc mimgcn isfi xed b}r |

(3) bacteria and blue-green algae (;) only bacteria

The disease transmitted through water g |

(1) hepatitis B “(2) hegie

(3) encephalitis . detgis -

Orobanche attacks

(1) flowers (5 Jeaves

(3) leaves and flowers @) rooty
()

f% (Jpe,.]
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64. The fatty acid with antinutritional effects is:
(1) linclenic acid (2) erucic acid
(3) linoleic deid | o (4) oleic acid

65. Hypersensitive host response is typical of resistance to

(1) obligate parasites Cn s (2) facultative parasites
(3) facultative saprophytes ' (4) saprophytes

66. Pythium spp. cause :

(1) leaf spot (2) rust (3) root rot (4) mildew

67, Tilletia indica causes :

+ (1) kamal bunt of wheat (2) partial bunt of rice

(3) loase smut of barley (4) Toose smut of wheat

68. Dysdercus cingulatus generally attacks :

(1) rice (2) Sugarcane (3) groundnut (4) cotton

69, The favourite food of lady beetles -

Gpesids T @upties’ O ® mealy bugs
70 N?mph”f“i’“’dwd i
(1) Orthopt™® @)PDipera T I TOICOMer (4) Lepidoptera

(Continued)
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74.

75.

76.
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The term ‘pureline’ is related to -

(1} maize (2) sugarcane .~ (3) wheat (4) potato

When the F, from a cross i superior to the best varieties of the ¢rop, the
phenomenon is called ;

(1) economic heterosis . (2) average heterosis

(3) balanced heterosis . (4) beterobeltiosis

The mutagenic effects of uitrg violet rays are due to -

(1) DNA cross-linking T r{é}v-i.t)t.tiz_aﬂﬂﬁ

(3) chromosome breakage ¢4 thymine dimer formation
Heterochromatin stains 88eply duriig:

(1) anaphage (2 iiftetphnsy - " (3) telophise - (4) ttintaphage
Crossing over takes place dwring ;.

(1) zygotene O legtotens (3) pachytene - (4) digkinesis
Given below are the chief modes ufinliéritauce :

() Oligogenic (D) Polygenic ** ) Cytoplasmic |

Pick the correct option for the knof iodes o infgtitance for gigegs,
resistarice in plants v~ - . )

DD - @eaEo () @ ";f"):ﬂ);{ﬂ) |

1Y .
(13} (T e
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77.

78.

79.

8.

81,

82.

The evolution of new genes involves:

(1) duplication  (2) deletion (3) translocation  (4) inversion
Bt-cotton hybrids are ;

(1) virus resistant (2) disease resistant

(3) herbicide resistant (4) insect resistant

The first transgenic variety approved for commercial cultivation was improved
for :

(1) herbicide resistance (2) virus resistance
(3) aquality trait (4) drought resisiance

Specific RNA molecules are detected by -

(1) ELISA * (2) Southern blotting
(3) Weslern blotting (4) Northem blotting
Antibodies are usedin :

(1) Southern hybridization (2) Western blotting
(3) Northern blotting (4) Colony hybridi zation

Transposable elements were first discovered in :

" 3 ¢ 4 s
(n maize 2)E ouit (3) yeas (4) Arabidopsis

(14) (Continued)



17PI287/29

83, Southern hybridization does not e :
h fl] gel Icimuphm& (2) restriction mz}mes
(3) primers | (4) probes
84. Hargovind Khorana is known foe:
(1) rﬂmmbiumi}m
(2) chemical synthe;sis ofa cu;z:plete gene
(3) genetic transformation

(4) endonucleases

85. Considet the following components of genetic variance
M Additive . (T Dominance
(LN Additive  addittve" (TV)Additive « daminance
Selection-in & crop Ewmmuﬁliu
(1) @) and V) {2) Dond@y—
5 O Wand@y) @ s

86. nmindimlmﬁmwﬂfﬁwedin ;
(1) NewDelhj - {2) Kanpuq (YR W |
| - T |
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87.

88.

89,

A hnman individual with three copies of ;::hromusﬂme 21 would show :
(1) Turner's syndrome (2) Patau syndrome

(3) Down's syndrome (4) Kleinfelter's syndrome
The 'grow-out' test for seed lots is a test for :

(1) genetic purity (2) germination

(3) physical purity (4) presence of disease

The genetic consequence of asexual reproduction is -

(1) increased heterozygosity (2) increased homozygosity
(3) no change in genotype (4) new genetic variation
Consider the following :

(I) Rooting of shoots (II} Suspension culture (II1) Somatic embryogenesis

Auxin is used for:
(1) (), (1) (2) (), (), (1)
(3) (1),aD (4) (II), (1)

9. Micropropagation is a form of :

(1) apomixis (2) sexual reproduction

(4) vegetative propagation
3) pa:mcnocafw

(Continued)

(16)
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94,

95.
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Consider the following techniques ;.
() Meristem culture (IT) Embryo culture (LTI} Protoplast fusion
The techniques usefiin interspecific hybridization are |

(1) (Manitm) T
G)Madm (4} @, (M and () -
Consider the following : |

(1) Pathogens (T} Inséct pests () Woeds. .
e aims o miniiiogthe ik of enry o the oy of e

(1) M and () . () Meandm

(3) @ and (1) (4J [IJ,(H}&&;I(IIIJ
Disarming' of T plasmid jefry the deletion o

(1) FONA

(4) genes for opine synthesis

The enzyme reverse transcriptase is used for the constryction ;r;
(1) recombinant DNA ) SDNA fibrary

(3) genomic library (4) vectors
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96.

97.

u8.

Consider the following organisms :

(1) plants () E. coli
Plasmid is known to occur in -
(1) (1), (1Y)

(3) (1,

Vernalization is related to :
(1) drought tolerance

(3) cryopreservation

The 'Dolly sheep wasa:

(1) cloned animel

(3) sexual progeny

(T1T) yeast

(2) (0, (D), (1)
(4) . dD

(2) heat shock

(4) cold treatment

(2) hybrid animal

(4) transgenic animal

99. Inplantcell walls, pectin is present in:
(1) primary cell wall (2) plasma lernma
) middietamell (4) secondary cell wal
100. In plants; plasma lernma is made up of :
(1) lipids ©(2yproteins
) pgma{f chaﬁdes (4) lipids sod proteins

( 18) ' {Cﬂntinued]
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Iﬂl.ﬂfﬁ-monnm'smnfwhmin-mﬂ:

(1) Cuttack .a;mm (3) Puse
102, The'green

(4) Srinagar
revolution was iniiated by semi-dwarf varieties of;

(1) wheat @)rice ) maizo- (4) sotghurn
ius. in plauis, Sperms ate produced by |

(1) meiosis in polien graing
(2) mitosis in pollen grajns . °

- 13) meiosis in pollen mother cells
(4) mitosls in-pollen mother cells
. H o --w 2
104. EEG monitors thenctivity of: .
gana b %-:mmm_..::

(1) lungs (2) heart (3) brain ) liver

108.‘Canola’ quality of has - T
_.“"‘-'M-_..‘H‘ﬂ 3
(1) 'zero’ glucosinolate and 'zer’ erucic gl ™
{2) 'zero’ glucosinolate only
(3) 'zero’ erucic acid only
(4) ‘zero' linolenic acid only

) By
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106. The spore associated with sexual reproduction is :

(1) conidia (2) sporangiospore (3) pycniospore  (4) ascospare

107. A ring of four chromosomes at the first metaphase of meiosis Suggeses -

(1) deletion (2) inversion (3) wanslocation  (4) duplication
108. A new species is produced by :
(1) aneuploidy (2) translocation
(3) autopolyploidy (4) allopolyploidy
109, The spore produced at the tip of special branches s
)] sporangiospores (2) conidia
(3) oidia (4) ascospores

110. Somaclonal variation is related to :

(1) mutation (2) hybridization (3) heterosis (4) segregation

111, The bulk method of breeding can be usedin
(1) a genetically variable pureline of Wheat

(2) segregating generations OFbaley

(3) an npgﬂ-pﬂ"iﬂﬂtﬁd variety of maize

(4) 2 qultiline variety of wheat
(20) (Continued)
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112. Insect parasitoids belong to;

(1) Coleoptera  (2) Orthoptera (3) Lepidoptera  (4) Hymenopters
113. The biocontrol agent Bacillus thuringiensis is not effective against.

(1) Lepidoptera (2 Coleoptera  (3) Orthoptera

4 Diptera
i14. Golgi bodies are concerned with : |
(1) packaging of molecules (i] cell division
() cell differentiation - (4) sforage °
115. Grafting is generally user:il fof v&getﬁtive propagation of :
(1) datepalm  (2) mango - (3) hiipalm | {4} citrus

116. {RNA participates in ;

(1) RNA processing ~ (2) transcription

(3) RNA edifing  (4) translation -

117. The radiation with the lowest penetration in bmlngi{:al tissuesis:

{1) gamma-rays (2) Xerays
' ° fw“___ E
(3) P-rays 4L fast neutrapa._ .
(2

% Over,
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118, Pyrillais a pestof :

(1) sugarcane  (2) cotton {3) cucurbits (4) rice
119 The 2n chromosome complement of barley has .

(1) 7 chromosomes (2) 14 chromosomes

(3) 18 chromosomes (4) 20 chromosomes

120. The equipment particle gun is used for :

(1) insect control (2) virus elimination

(3) someatic hybridization (4) genetic transformation

(22)

B-1,900
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